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10:00~10:59 15 2 17
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13:00~13:59 9 4 13
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18 N 38 10 48
2H & 11 13 24
3H + 5 11 16
4H H 0 0 0
5H A 47 13 60
6H X 14 10 24
Ie=! 7K 5 13 18
8H N 37 9 46
9H & 11 14 25
108 £ 4 11 15
118 | H 0 0 0
128 A 49 13 62
138 | X 15 11 26
148 | X 6 11 17
158 | K 37 13 50
168 | ® 11 11 22
78| 4 11 15
188 | H 0 0 0
198 | R 49 14 63
2080 | X 14 11 25
218 | K 7 13 20
228 | K 38 11 49
23| = 11 11 22
248 | * 4 10 14
25H( H 0 0 0
260 | A 48 13 61
2782 | X 15 12 27
28B | K 6 14 20
298 | K 33 12 45
30| = 11 16 27

aEf 530 311 841




5H TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H + 5 11 16
2H H 0 0 0
3H A 51 13 64
4H X 15 11 26
5H 7K 0 0 0
6H N 41 13 54
Ie=! & 13 10 23
8H + 8 13 21
9H H 0 0 0
108 R 49 12 61
118 | X 14 12 26
128 | K 7 13 20
138 | K 34 11 45
148 | € 10 12 22
15| £ 5 9 14
leH | H 0 0 0
178 | A 45 13 58
188 | X 14 11 25
198 | 6 12 18
208 | K 32 10 42
21H | = 10 14 24
228 | = 4 11 15
230 | H 0 0 0
244 | A 48 12 60
2580 | X 14 11 25
268 | K 8 11 19
2718 | K 32 15 47
28| = 12 12 24
298 | * 5 11 16
308 H 0 0 0
318 | A 49 17 66

aEf 531 300 831




6 H TTHTUEE AT BR 2 | FF AT EE PR & 2 &5t
1H X 16 12 28
2H 7K 5 12 17
3H ZN 35 11 46
4H & 10 14 24
5H + 4 10 14
6H H 0 0 0
7H A 49 13 62
8H X 14 12 26
98 | X 5 12 17
108 | K 35 9 44
18| £ 11 14 25
12H T 4 10 14
13H H 0 0 0
14| R 47 12 59
15H X 14 12 26
168 | 7« 5 13 18
78| K 34 10 44
188 | % 10 13 23
19H + 4 10 14
20H H 0 0 0
21H| A 48 16 64
22H X 15 14 29
238 | 7 5 13 18
248 [ K 36 10 46
258 | & 10 16 26
26H + 4 10 14
27H H 0 0 0
28H | A 46 16 62
29H X 14 10 24
30| K 6 15 21

At 486 319 805




7H TTETILER ATA 2 | BF RTUNSE AT A & Hat
18 N 33 13 46
2H & 10 15 25
3H + 5 11 16
4H H 0 0 0
5H A 44 14 58
6H X 15 12 27
Ie=! 7K 5 15 20
8H N 31 11 42
9H & 10 15 25
108 £ 5 9 14
118 | H 0 0 0
128 A 44 15 59
138 | X 15 12 27
148 | X 5 14 19
158 | K 34 12 46
168 | ® 10 16 26
78| 5 9 14
188 | H 0 0 0
198 | R 43 14 57
2080 | X 15 13 28
218 | K 6 12 18
228 | K 33 13 46
23| = 10 13 23
248 | * 5 10 15
25H( H 0 0 0
260 | A 50 14 64
2782 | X 15 14 29
28B | K 6 13 19
298 | K 33 12 45
30| = 11 14 25
31| = 5 10 15

aEf 503 345 848




8H TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H 0 0 0
2H 45 15 60
3H X 13 12 25
4H 7K 5 15 20
5H N 33 12 45
6H & 11 14 25
Ie=! + 4 9 13
8H H 0 0 0
9H A 45 14 59
108 | X 13 10 23
118 | X 5 13 18
128 K 35 9 44
1I3H| =& 11 13 24
148 £ 5 10 15
158 ( H 0 0 0
16H | A 49 14 63
178 | X 13 11 24
18H | 7k 6 12 18
198 | K 30 13 43
2068 | = 10 13 23
21| =+ 4 9 13
228 H 0 0 0
230 A 43 13 56
2480 | X 13 10 23
258 | K 5 11 16
268 | K 34 11 45
27180 | = 11 11 22
28| £ 4 9 13
29H ( H 0 0 0
306 | A 46 14 60
31| X 13 13 26

aEf 506 310 816




9H TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H 7K 6 11 17
2H N 32 10 42
3H & 10 14 24
4H + 0 0 0
5H H 0 0 0
6H A 45 13 58
Ie=! X 0 0 0
8H 7K 0 0 0
9H N 34 13 47
108 | & 9 13 22
118 £ 5 9 14
128 | H 0 0 0
13| A 45 12 57
148 X 13 12 25
158 | 7 5 13 18
168 | K 35 11 46
78| ® 9 12 21
18H| £ 5 9 14
198 H 0 0 0
2068 A 45 12 57
210 | X 14 11 25
228 [ 7K 6 15 21
238 | K 0 0 0
248 | = 10 13 23
25| * 6 10 16
260 | H 0 0 0
210 | A 45 12 57
280 | X 14 11 25
298 | K 7 10 17
308 | K 33 13 46

aEf 433 259 692




10H TETILER ATA & | BF RTUNEE AT A & 2 At
1H & 10 11 21
2H + 5 9 14
3H H 0 0 0
4H A 45 12 57
5H X 15 12 27
6H 7K 6 13 19
Ie=! N 34 11 45
8H & 11 14 25
9H + 4 12 16
108 | H 0 0 0
118 R 45 12 57
128 X 14 12 26
138 | & 5 12 17
148 K 33 12 45
158 | & 12 14 26
68| * 4 9 13
178 | H 0 0 0
18| R 45 13 58
198 | X 15 14 29
208 | K 6 13 19
218 | K 35 13 48
228 | = 11 15 26
230 | = 4 8 12
2480 ( H 0 0 0
25H | A 47 14 61
268 | X 15 10 25
278 [ 7K 6 15 21
288 | K 35 10 45
298 | = 11 15 26
308 £ 4 11 15
31| H 0 0 0

aEf 477 316 793




11H TETILER ATA & | BF RTUNEE AT A & 2 At
1H A 45 12 57
2H X 15 16 31
3H 7K 0 0 0
4H N 34 16 50
5H & 12 15 27
6H + 6 7 13
Ie=! H 0 0 0
8H A 45 14 59
9H X 0 0 0
108 | 7 6 11 17
118 K 33 13 46
28| ® 10 12 22
13| £ 4 8 12
148 | H 0 0 0
15H | R 45 14 59
168 | X 14 12 26
178 & 6 12 18
188 | K 36 11 47
198 | & 11 13 24
208 =+ 3 8 11
210 H 0 0 0
2280 A 45 12 57
238 | X 12 13 25
248 | K 7 12 19
258 | K 35 11 46
2680 | = 10 13 23
2718 | = 6 8 14
28H H 0 0 0
295 | A 46 12 58
308 | X 14 13 27

aEf 500 288 788
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12H TETILER ATA & | BF RTUNEE AT A & 2 At
1H 7K 7 13 20
2H N 32 14 46
3H & 10 11 21
4H + 5 12 17
5H H 0 0 0
6H A 45 11 56
Ie=! X 14 13 27
8H 7K 5 13 18
9H N 33 10 43
108 | & 10 13 23
118 £ 5 9 14
128 | H 0 0 0
13| A 47 13 60
148 X 15 12 27
158 | 7 6 15 21
168 | K 32 11 43
78| ® 10 11 21
18H| £ 5 9 14
198 H 0 0 0
2068 A 45 12 57
210 | X 15 13 28
228 [ 7K 6 12 18
238 | K 34 10 44
248 | = 11 12 23
25| * 5 9 14
260 | H 0 0 0
210 | A 55 11 66
280 | X 14 14 28
298 | K 28 14 42
308 | K 12 11 23
31| = 5 14 19

aEf 511 322 833
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1A TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H + 0 0 0
2H H 0 0 0
3H A 0 0 0
4H X 74 19 93
5H 7K 10 12 22
6H N 41 10 51
Ie=! & 13 12 25
8H + 4 9 13
9H H 0 0 0
10H | A 44 15 59
118 | X 14 16 30
128 | K 6 13 19
138 | K 33 11 44
148 | € 12 13 25
15| £ 4 8 12
leH | H 0 0 0
178 | A 45 15 60
188 | X 14 11 25
198 | 6 11 17
208 | K 31 12 43
21H | = 9 11 20
228 | = 5 9 14
230 | H 0 0 0
244 | A 42 13 55
2580 | X 14 11 25
268 [ 7k 5 14 19
2718 | K 33 10 43
28| = 10 12 22
298 | * 5 9 14
308 H 0 0 0
318 | A 47 16 63

aEf 521 292 813
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2R TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H X 13 11 24
2H 7K 5 12 17
3H N 32 11 43
4H & 10 13 23
5H + 5 9 14
6H H 0 0 0
Ie=! A 45 14 59
8H X 15 12 27
9H 7K 5 11 16
108 | K 33 11 44
118 | & 9 10 19
28| £ 5 9 14
138 | H 0 0 0
1485 | R 46 13 59
158 | X 14 12 26
168 | & 5 11 16
78| K 30 12 42
188 | =& 10 12 22
198 £ 5 10 15
208 H 0 0 0
218 | A 45 11 56
228 | X 13 14 27
238 [ 7K 5 13 18
248 | K 34 12 46
25H | = 10 13 23
268 | = 5 8 13
218 H 0 0 0
28H | A 45 16 61

aEf 444 280 724
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3AH TTETILER ATA 2 | BF RTUNSE AT A & Hat
1H X 13 10 23
2H 7K 5 12 17
3H N 32 11 43
4H & 12 13 25
5H + 4 8 12
6H H 0 0 0
Ie=! A 48 13 61
8H X 14 13 27
9H 7 6 12 18
108 | K 34 11 45
118 | & 11 11 22
28| £ 4 10 14
138 | H 0 0 0
1485 | R 49 14 63
158 | X 14 12 26
168 | & 5 12 17
78| K 35 13 48
188 | =& 13 12 25
198 £ 5 9 14
208 H 0 0 0
218 | A 47 12 59
228 | X 12 12 24
238 [ 7K 5 12 17
248 | K 34 13 47
25H | = 11 11 22
268 | = 5 9 14
218 H 0 0 0
28H | A 48 13 61
298 | X 14 10 24
308 | K 7 11 18
318 | K 35 16 51

aEf 522 315 837
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